y

$=1/100

+9. 50

OV ) —FEEIRBEAR  s-1/100

Bs " X ~oroaRKiskd) % &
a b c s S
[©0) 4.85 2.20 5.10 6.075 5.30
@ 5.10 3.95 3.15 6.100 6.22
& &t 11.52m2

$=/ (s(s-a) (s-b) (s=¢)  s=(a+b+c) +2

5 AL R (L=2000)
L=20. 0m

AV ) —FEEIFER  s-1/50

BEER&EZ O V0 ) — RERIRL =200

#Ea Y )—F t=200
BEI 5y v—35 2 (RC-40) t=300
Bpfb s — b

HRL (FAFE 1~5ke)

OB $=1/100

% i b -] X 5 | B f1|% 8
E@ER 10~200kg m3

R EFHL +300 m2
#w B R 400kg m3 0.9
R E#H L +300 m2 1.5
MEHavyy—+| 18-8-20 m3 0.28
B — b m2 1.3

No.0+3. 00

No.0+3. 00
£ R AR
EREE 10~200kg m3 6.1
LS L +300 m2 8.9
% B & 400kg m3 55
L +300 m2 9.3
ME»avs Y-+ | 18-8-20 m3 1.82
By —+ m2 8.9
No.0+4. 50
VY )—rEET
k&, N
...... PN
No.0+4. 50
% CEERE IR IS
Wy — b ERER 10~200kg m3 2.4
RERSL +300 m2 49
W B & 400kg m3 3.0
R E#H L +300 m2 5.2
MEHIv s U—F | 18-8-20 m3 1.0
WE S — b m2 49
No.0+9. 50
3 R AR
EREE 10~200kg m3 0.5
REFH L +300 m2 3.1
% B & 400kg m3 2.0
L +300 m2 3.5
ME»avsy—+| 18-8-20 m3 0.66
TE S — b m2 3.1
st LTIERLEL [T
LR ET B
I g | RIAL @EER EIEE) W&

HEWETE

B®RA | BERR ERHX)

IHRER | MATHHETER

HE2 | FER-#5E

R [E3

E ]

BRES | BERRDREREBRIEMHES (FIME)




